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MASS  (m)

17.8571

3.1081

1.771 84

kg

Example:   Convert 2 kilograms to troy ounces exactly
Solution:   For exact conversions we follow the arrows bearing red numbers. Thus:
                   2 kg = 2 (×  1000) (×  1000) (÷  64.798 91) (÷  20) (÷  1.2) (÷  2.5) (÷  8) ozt = 64.301 49 . . . . ozt

15.4324

14.5939

2.204 62

long ton

megagram

ton (short)

tonne (metric ton)

hundredweight (long)

hundredweight

slug

Mg t

tn

cental

stone

kg

pound (avoirdupois)

pound (troy)

ounce (troy) ozt

lb or lbm

ozounce (avdp)

assay ton

assay ton (long)

dram (avdp)

dram (troy)

pennyweight

scruple

grain gr

g

mg

µgmicrogram

milligram

point

carat

gram

1.215 28

1.295 98

1.028 82

1.102 31

1.016 05

kilogram

28.3495

1.
09

71
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1

1

1

1

1000

16

1000

1.12
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1000

64.798 91

1000

100

20

2

5

1.2

2.5

8 453.592 37

12

14
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1.12

100
32.174 05
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